WINAM GROUP

CLOXX

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D'INSTALLATION

REF: 220120
DATE: 18.2.2015

220120

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



A
CLOXX REF: 220120 - <
DATE:  18.2.2015 PLAY
701985  |pcs 701997 |pcs 701999 |pcs 702000 |pcs 702285 |pcs 702291 PCS
1 S 1 1 1
= = = =
702341 PCS 702633 |pcs 703278 |pcs 901941 PCS 90l991 PCS 902022 |pcs
1 1 4 10 4 9
90x50 90x50 = L {493 L 710
902134 |pcs 902141 PCS 904747 |pcs 902253 |pcs 903699 |pcs 903700 |pcs
19 2 53 5 2 3
Co i i er| i
N0 | |<—
= 60x60x2 = M10,/50pcs M12/50pcs
702363 |pcs PCS PCS PCS PCS PCS
2
=
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 220120

CLOXX REF: 220120 4
DATE: 18.2.2015

EN +Impac$ Arec1+28.2 +rn2

+ + + + + + + + +1:50* + +
Crid size = 500mm 0 5

+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + O + +

0

~
+ + + + +

o

00
+ + + + N+ +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP 220120

CLOXX REF: 220120 5
DATE: 18.2.2015

_— EN Impact Area 28.2 m2
1:50

- Folling SpGCG 28.2 m2 3410 [
Max Falling Height 1740 mm 0 2
o
<
©
1540
o 'S00 3
™ 5
Z.
S
o
Z.
S
%
O
Q
2
6380
+1620
+1470
+1250

+0

+1810
+1740

+960

+0

780 | 780

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP 220120

CLOXX REF: 220120 ry 6
DATE:  18.2.2015 AN

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP 220120

CLOXX REF: 220120 ) 8
DATE:  18.2.2015 :

902253

703278

701999

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP -
SECURING -

CLOXX DATE: 3.10.2012 LAY 1 (1)

max. 25 Nm max. 25 Nm

U

max. 25 Nm

max. 15 Nm max. 15 Nm

Hox! Note!

h Pultit on kiristettavd lopulliseen kireyteen, Tighten bolts properly,
Secur‘ty p‘ugs ennen turvapinnien asennusta. before installing security plugs.

are included

only for & g%
&
l

selected
“e -~

products.
903699 / 903700 / >

(903543) (903544) 'i

M10 M12

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP
CLOXX

702291

DATE:

27.9.2007

A 1(1)

(2) 902195 |pcs

=

| 1s0%50%50 | |
pes|(4) 902233 |pcs|
18] 8
<
®))
] wmioxzo | |
pes|(6) 980161 |Pcs|
16] 16
‘@,
\m#
] Mo | |

DET 1

M10x30  M10x55

902273

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

902253

CLOXX DATE: 11.2.2008 = LA 1(2)
(1) 902196 |Pes|(2) 902232 [pes
2] |
150x50x50 | | M10x85 | |
(3) 902233 |pes|(4) 902273 |Pcs|
1 2

||
M10x30 | | I
(5) 905023 |Pes|(6) 905112 [pes
2 2|
gsox126 | | @22 | |
(7) 909195 |pes|(8) 980150 |Pcs|
1 1
Mexteo | | M8 | |
(9) 980161 |pes| Pes
2 .

&

mo | ] ]
DET 1 pos ros

903112

902196

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 902253
CLOXX DATE: 11.2.2008 2(2)

Set to place only.
Tight properly. g

S
(@] o
o © n
N~ < @)
A N
N
Q Q
o
AN
M
(@]
[ve]
d—
o
0 790 o
(e} N
(0]
(@]
(e)]
. Q

390 . 390 . 39

=)

() ()

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP
CLOXX

702285

DATE: 4.4.2008

¢ 1(1)

DET 3

=\

(2) 902379 |pcs

235xM8
(5) 909637 |pes|(6) 909638 |pes
4 8
1@)
= ©
Mio | | @20/10,5 | |
(7) 909639 |pcs|(8) 900965 |Pos|
4 4
mioxes | | w0 | ]
(9) 909628 |pcs|10) 902252 |Pos|
4 il
)
920/105 | | Miox3s | |

g DET 2
DET 1 DET 2
QO
. y a2
2N AN 7 P
Z N 7N o A P
2124 e a; / O 2
sl 7
Ve - Ol
4 /// ﬁ» v
N T @20/10.5
TRTRN ﬂJ/; /// /; RIPZIZS
/4Y\ o (=
TR TR TR I T 902379

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 702363
CLOXX 27.9.2007 ‘ 1 (1 )
(D) 902411 [pes|(2) 909629 [pes]

T
(3) 909637 E@hgoc);ggs |
mo | | @20/105 | |

DET 1

@20 /10.5

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



11.5.2017

LAPPs

g ot
ity Mﬂnvmxm

o

123 po
RS oy
Tierg ,;“*"

o
Nz

LAp
g&llgie F:?s ET Groy
F'NLAI\TE?VAN'EW

123456

W4 py
F567g9

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit

- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 2 mukaisesti.

2) Tuotekylttitarra

- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 3 mukaisesti.

- Huom. Al3 kiinnita tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av féljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

-Rengérdenpulverlackerademetallytanellerlaminatytansaattdenblirfrifransmutsochfukt. Fastetikettenenligtfig. 3.
- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker

-Cleanthepaintedmetalorplywoodsurfacefromdirtandmoisture.Fastenthestickerasshowninthefigure3.

- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a l'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre séche (voir image 3).

- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliére ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben

- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-EntfernenSiezunachstSchmutzundFeuchtigkeitvomlackiertenMetallbzw.vonderHolzoberflacheundbringenSieden

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.

- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.



WINAM GROUP 902134 =
CLOXX DATE:  3.5.2013 LAY 1(2)
(1) 901803 |pcs|(2) 901994 [ecs|
@ 2] 2
DET 1, 2, 3, 4, 5, 6, (8) @/
Mi2x90 | | @190 | |
(3 902096 [pes|(2) 902234 [pes
DET 8 @/ =l % 6|
N Mi2x120 | | w2 | |

|

o

%

|

|

s'x
&

DO NOT TIGHTEN THE
JOINTS UNTIL THE
STRUCTURE IS COMPLETE.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

902134

CLOXX DATE: 3.5.2013 2(2)
DET 1 DET 2 DET 3
FIRST BOLT
% FIRST BOLT INSTALLATION
INSTALLATION \ Max. 20Nm.
\ Max. 20Nm.
} '\ s")

LAMINATE OR WOOD

"‘
4
;

(901803)

M12
(902234)

DET 4

901994

901994

Max. 20Nm.
M12x120
( )

FIRST
BOLT
INSTALLATION

Max. 20Nm.

MT2
(902234)

M12x120

REMEMBER
FINAL
TIGHTENING

902096 (902096)
DET 7/ 902157/ or DET 8 902157 or

904747 904747

FREE HOLE FREE HOLE

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

703278

CLOXX DATE:  7.1.2013 PLAY 1(1)
(1) 702061 Pes|
O O i
2058 | | 150x50x50 | |
(3) 902232 |pes|(4) 902233 |pes
1 1

¢ ) @ -
] - MIOX55 | | M10x30 | |
q (5) 902273 |pes|(6) 980152 |pes

DET 2

> ar
<,,> <_,> | @24/8.4x2 | |
. (7) 909274 [pcs|(8) 980161 |pcs|
& 2| B

@)

W e
' @/ MBx30 | | M0 | |
_ (9) 980150 |pes| Pes|
il 7 2| ||
ms | | ]
e e

DET 1 DET 2 DET 3
M1OXx30  M10x55
9@7
&)

902195

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

CLOXX

WALL AND FLOOR DATE:  3.8.2010 ¢ 1(3)
(O 701967 | 701936 [pes|() 929322 [pes|() 902124 [pes((C) 980161 [pes|(C) 905112 [pesi(C) 980150 |pcs|
% - _ 19 19 5 A
) \mp N \m¢
668x668x15 | | @120x30 | | 150x50x50 | | w0 | | @22 | | me | |
(O 909256 |pes|() 902232 |pes|(0) 902233 |pes|(C) 901899  [ps| ps| pes
6] S 5| 6] - -
@/ I
216/8.4x1.6 | | Miox55 | | Miox30 | | wmexa5 | | ] -
PCS PCS PCS PCS PCS PCS
(O 701987 | 701936 |pes|() 929322 |pes|(C) 902124 |pes|(C) 902197 |pes(C) 980161 [pes|(C) 905112 [pes|
i i — 1] 4] 14 6]
7
668x668x15 | | @120x30 | | 150x50x50 | | 200x50x50 | | M0 | | @22 | |
(O 980160 |pes|(C) 909256 |pes|() 902232 |pes|(C) 902233 [pes|() 901899  |pes| pes
5 6 9 S 5 -
\mf S < )
L)
M8 | | @16/8.4x1.6| | Mioxs5 | | Miox30 | | Msexas | | -
P PO P e PO P
(O 702046 |() 701936 |pes|() 929322 [pes|(() 902124 |pesi(C) 902197 [pes|(C) 980161 [pesi(C) 905112 |pes|
§ ] _ 19 0 A
3 & S
\ //
\‘»—,,,, B L L L L L L
668x668x15 @120x30 150x50x50 200x50x50 M10 222
(O 980150 |pes|(0) 909256 [pes|() 902232 [pes|(C) 902233 [pes|(C) 901899  [pes Pas|
6] 5 7] -
& ,,
& || @ ||~
Q)
M8 | o16/8.4x16| | Mioxss | | wmioxzo | | wmexas | | ]

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

CLOXX

WALL AND FLOOR DATE: 3.8.2010 P LAY 2(3)
(O 701986 |() 701990 [Pes() 902124 |[pes|(C) 980161 [Pes|(C) 902232 |pes|(C) 902233 [pes| pes|
% / a 14 14 7 7 |
( S ’
= | |5
668x668x15 | | 150x50x50 | |  M10 | | Mioxs5 | | wmiox30 | | -
(O 701989 () 701886 | () 902124 | [(O) 980161 | |() 902232 | () 902233 | | ]
T 4] 7 7] |
' S ,’
= | |
S & O
668x668x15 | | 150x50x50 | |  M10 | | Miox55 | | wmiox30 | | N
(O 701997 | 902151 [pes(C) 902124 |pes|(T) 980161 |Pes|(C) 902232 |pes|(C) 902233 |pes| ps|
1 10 19 S S |
< 1@) ,,
& 7 = ,/ '
668x668x15 | | 150x50x50 | |  Mi0 | | Mioxs5 | | Miox30 | | N
(O 701999 | 701936 [pes|() 929322 [pes|() 902124 [pes|(C) 980161 [pes|(C) 905112 [pes|(C) 980160 |pcs|
’ 1 — 2] 14 14 6] 6]
2) S D) S
N\ P /
668x668x15 | | @120x30 | | 150x50x50 | | w10 | |  e22 | | w8 | ]
(O 909256 |pes|() 902232 |pes|(C) 902233 |pes|(() 901899 [pes pes pes
5 7 7 6 . -
S ,,
5 o)
016/8.4x1.6 | | Miox55 | | Miox30 | | Mexas | | - -
(O 702000 |() 701886 [pes|() 902124 |pes|(C) 902197 [pes|(C) 980161 [pes|(C) 902232 [pes|(C) 902233 |pcs|
14 9 )
&) ,,
‘) \mf </ )
I & o
668x668x15 | | 150x50x50 | | 200x50x50 | | w10 | | wmioxs5 | | wMmiox30 | |
(O 702056 |() 701975 |pes|(C) 902124 |pes|(C) 980161 |pes|(C) 902232 |pes|(C) 902233 |Pos| pes|
16 il 8 8 |
: @ |1
668x668x15 | | 150x50x50 | |  Mi0 | | Mioxs5 | | Miox30 | | N
(O 702155 |0 902151 [pes|(C) 902124 [pes|(C) 980161 |pes(C) 902232 [pes|(C) 902233 |pes| pes
14 7 7 |
@ e
= -
©
668x668x15 | | 150x50x50 | |  Mi0 | | Mioxs5 | | wmiox30 | | -

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

CLOXX

A

¢

WALL AND FLOOR DATE:  3.8.2010 =LA 3(3)
MEx45 M10x55 M10 MT0Ox55
h ; 902124 // 902197/

1701987
920322

M10x95

%/ 902197/

- M10

&

Sl B

902124

NOTE:
Use a wire marked pairs
of the same junction.

Huom!
Kayta langalla merkittya
paria samassa liitoksessa.




WINAM GROUP
CLOXX

701985

DATE:

28.6.2007

 1(1)

(1) 902094 |pes|(2) 909519 |pcs|
i
@60x450 | | 50x380x380 | |
(3) 909637 |pes|(4) 909638 |pcs|
4 4
1@}
\mf,
Mo | | @20/105 | |
& 505639 = &
4
M10x25 | | -
PCS PCS
PCS PCS
PCS PCS

s Vs N\ 2
7~ / Z % Zr 0 //Z/C/D v
Y 7y, O Zr
yZ / Yy 24 70

) e 7 2, 7 2O,

7 e yowZs
/ Yz , Yz / e ., e
V24 24 P 2/ s ////ﬁ» s
Z A Ty 4w ~
o7 Y24 ////// 7

228 N

Zg LT ///Q%
=) e B N
Ak

DET 2

(=]
@

" MIO

902094

M10x25

ﬁ

909519

-.2 820/10.5
JL A

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333





